
Applied Data Analytics

Visualisations with plotly
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linear x, linear y scales
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fig = series.plot.line()
fig.update_layout(
    showlegend=False,
    xaxis_title="x (linear scale)",
    yaxis_title="y (linear scale)",
)
fig.show()
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logarithmic x, linear y scales
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fig = series.plot.line()
fig.update_layout(
    showlegend=False,
    xaxis_type="log",
    xaxis_title="x (logarithmic scale)",
    yaxis_title="y (linear scale)",
)
fig.show()
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linear x, logarithmic y scales

200 400 600 800 1000

1

2

5

10

2

5

100

2

5

1000

x (linear scale)

y 
(lo

ga
rit

hm
ic

 s
ca

le
)

fig = series.plot.line()
fig.update_layout(
    showlegend=False,
    xaxis_type="linear",
    yaxis_type="log",
    xaxis_title="x (linear scale)",
    yaxis_title="y (logarithmic scale)",
)
fig.show()
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logarithmic x, logarithmic y scales
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fig = series.plot.line()
fig.update_layout(
    showlegend=False,
    xaxis_type="log",
    yaxis_type="log",
    xaxis_title="x (logarithmic scale)",
    yaxis_title="y (logarithmic scale)",
)
fig.show()
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Histogram: Linear
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fig = income.plot.hist(nbins=100)
fig.update_layout(
    showlegend=False,
    yaxis_title="Number of observations",
    xaxis_title="Annual income (€)",
)
fig.show()
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Histogram with automatic log scale
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fig = income.plot.hist(nbins=100)
fig.update_layout(
    showlegend=False,
    yaxis_title="Number of observations",
    xaxis_title="Annual income (log €)",
    xaxis_type="log",
)
fig.show()

1 / 10



Histogram with non-human labels
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fig = np.log(income).hist(nbins=100)
fig.update_layout(
    showlegend=False,
    yaxis_title="Number of observations",
    xaxis_title="Annual income (log €)",
)
fig.show()
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Histogram with manual labels
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xtickvals = pd.Series([1000, 5_000, 10_000
fig = np.log(income).hist(nbins=100)
fig.update_layout(
    showlegend=False,
    yaxis_title="Number of observations",
    xaxis_title="Annual income (log €)",
    xaxis_tickvals=np.log(xtickvals),
    xaxis_ticktext=xtickvals,
)
fig.show()
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